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Subject : ECONOMICS

Time : 1 Hour 15 Minutes

Maximum Marks : 100

Number of Pages in this Booklet : 24

Number of Questions in this Booklet : 50

Instructions for the Candidates

1. Write your Hall Ticket Number in the space provided on the top
of this page.

2. This paper consists of fifty multiple-choice type of questions.

3. Atthe commencement of examination, the question booklet will
be given to you. In the first 5 minutes, you are requested to open
the booklet and compulsorily examine it as below :

(i) Tohave access to the Question Booklet, tear off the paper
seal on the edge of this cover page. Do not accept a booklet
without sticker-seal and do not accept an open booklet.

(i) Tally the number of pages and number of questions in
the booklet with the information printed on the cover
page. Faulty booklets due to pages/questions missing
or duplicate or not in serial order or any other
discrepancy should be got replaced immediately by a
correct booklet from the invigilator within the period
of 5 minutes. Afterwards, neither the Question Booklet
will be replaced nor any extra time will be given.

(iii) After this verification is over, the Test Booklet Number
should be entered in the OMR Sheet and the OMR Sheet
Number should be entered on this Test Booklet.

4. Eachitem has four alternative responses marked (A), (B), (C)
and (D). You have to darken the circle as indicated below on the
correct response against each item.

Example: @ ‘ @

where (C) is the correct response.

5. Yourresponses to the items are to be indicated in the OMR Sheet
given to you. If you mark at any place other than in thecircle in
the Answer Sheet, it will not be evaluated.

Read instructions given inside carefully.

Rough Work is to be done in the end of this booklet.

If you write your name or put any mark on any part of the OMR
Answer Sheet, except for the space allotted for the relevant
entries, which may disclose your identity, you will render yourself
liable to disqualification.

9. You have to return the test question booklet and OMR Answer
Sheet to the invigilators at the end of the examination compulsorily
and must not carry it with you outside the Examination Hall.

10. Use only Blue/Black Ball point pen.
11. Use of any calculator or log table etc., is prohibited.
12. There is no negative marks for incorrect answers.
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. The revealed preference theory is based

on the assumption of

(A) Strong ordering

(B) Weak ordering

(C) Negative income elasticity
(

D) Cardinal utility analysis

The kinked demand curve model of
Paul Sweezy explains

(A) Price rigidity in Duopoly

(B) Price rigidity in Oligopoly

(C) Price determination in Duopoly
(

D) Quantity determination in Duopoly

. The psychological law of consumption is

given by

(A) A. C. Pigou
(B) Milton Friedman
(C) J. Tobin

(D) J. M. Keynes

High-powered money is also called as
(A) base money

(B) narrow money

(C) broad money
(

D) plastic money
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5. Knife-edge problem arises in

(A) Solow Model
(B) Kaldor Model
(C) Joan Robinson Model
(D) Harrod-Domar Model

. India’s Second Five Year Plan was
based on

(A) Harrod-Domar Model
(B) Mahalanobi’'s Model
(C) Joan Robinson’s Model
(D) Kaldor's Model

. Primary deficit is

(A) Fiscal deficit — relending by the
Government

(B) Revenue expenditure — revenue
receipts

(C) Fiscal deficit — interest payments
(D) Total expenditure — total receipts

. Adjustment under gold-standard is carried
out by

(A) flexible exchange rate

(B) exchange controls

(C) variation in national income
(

D) price specie flow mechanism

. The average annual growth of agriculture
during the Eleventh Five Year Plan period
was

A) 4 percent

B) 3.3 percent
C) 2.5 percent
D) 4.5 percent
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10. The relationship between arithmetic
mean (m), geometric mean (g) and

harmonic mean (h) is

g= mh
(A) m+h

(B) g=+mh

(D) None of the above

Note : Choose the correct combination

according to codes :

11. Which of the following factors are

responsible for changes in demand ?
l. Changes in consumer taste

Il. Changes in real income

lIl. Changes in distribution of income

IV. Changes in the rates of taxation

Code :
(A) land Il only
(B) Iland il only

(C) I, land IV only

(D) 1, 11, lland IV
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12. Which of the following are correct ?

. TC=TFC +TVC
I. MC:&
AQ

. ATC = AVC + AFC

I C
AFC=—
V. Q

Code :

(A) land IV are correct
(B) Iland IV are correct
(C) I, lland Il are correct
(

D) I, 1, llland IV are correct

13. Inthe following diagram, ¢ = f(y) indicates

y
C=Af(y)
Consumption
(C)
X
0] Income (y)
. APC = MPC

Il. Long run relationship

lll. Proportional relationship
Code :

(A) land lll only are correct
(B) lonlyis correct

(C) lhand Il are correct

(D) I, lland Il are correct

12, QK% IS O B0 ?
. TC=TFC +TVC

_ATC
AQ
ll. ATC = AVC + AFC

Il. MC

TC
AFC=—
V. Q

%
(A) 1558055 IV 5859

(B) 11550055 IV 5859

(C) 1, 1150005 Il 5052
(D) 1, II, 11150805 1V 5959
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14.

15.

16.

According to classical theory, an increase
in money supply leads to proportionate

I. Decrease in price level
Il. Increase in price level
lll. Fall in the value of money

IV. Rise in the value of money
Codes :

(A) Inland IV
(B) Inlland 1l
(C) Inlland IV
(D) Inlandlll

The theory of balanced growth was
developed by

I. Rosenstein Rodan
Il. Ragnar Nurskse
lll. Hirschman

IV. Leibenstein
Codes :

(A) land IV
(B) lland Il
(C) land Il

(D) lland IV

Which of the following are pure public
goods ?

|. Defence
Il. Roads
lll. Street lights

IV. Education
Codes :

(A) I, ITand I
(C) land il

(B) land Il
(D) L1, and IV
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17.

18.

Two of the following economists argued
that international trade is detrimental to the
industrialisation of developing countries

I. Haberler
Il. Ricardo
lIl. Myrdal

IV. Prebisch
Codes :

(A) landli
(C) Nand IV

(B) land Il
(D) llland IV

The reasons for fast growth of public
expenditure in India in recent years are

I. Urbanisation
Il. Interest payments
Ill. Subsidies

IV. Defence expenditure
Codes :

(A) I, Iland Il only
(B)
(C)
(D)

[, Iland IV only
I, Il and IV only
I, 1, llland IV
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19. The two regression lines will coincide
when 19. Boc (HARHE? DPL TP D[N
. r=0 . r=0 I r=+1
Il r=+1 . r=-1 V. r>0
. r=-1 &
V. r>0 (A) 113558050 1V 56052
Codes :
(A) lland IV are correct (B) 11508005 11T 28¢5
(B) Iland Il are correct (C) 1508050 115603052
(C) land Il are correct (D) 1558050 IV 5663599
(D) land IV are correct
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Note : The following questions consist of two

20.

21.

statements : One labelled as the
‘Assertion’ (A) and the other as
‘Reason’ (R). You are to examine these
two statements carefully and select the
answers to these items using the codes
given below :

Assertion (A) : Indifference curves are
convex to the origin.

Reason (R) : The marginal rate of
substitution of X for Y
(MRS,,) is diminishing.
Codes :

(A) Both (A) and (R) are true and (R) is
the correct explanation of (A)

(B) Both (A) and (R) are true and (R) is
not the correct explanation of (A)

(C) (A)istrue but (R) is false

(D) Both (A) and (R) are false
Assertion (A) : In monopolistic
competition, a firm
earns only normal profit
in the long run.

Reason (R) : A firm in monopolistic
competition produces a
commodity which has no
close substitutes.

Codes :

(A) Both (A) and (R) are true and (R) is
the correct explanation of (A)

(B) Both (A) and (R) are true but (R) is not
the correct explanation of (A)

(C) (A)istrue, but (R) is false
(D) (A) is false, but (R) is true
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22.

23.

Assertion (A) : Life Cycle Hypothesis
attempts to reconcile
the short-run and the

long run consumption

functions.

Reason (R) : Short-run consumption
function implies that
APC declines as income
increases.

Codes :

(A) (A)is true but (R) is false
(B) Both (A) and (R) are false

(C) Both (A) and (R) are true but (R) is not
the correct explanation of (A)

(D) Both (A) and (R) are true and (R) is
the correct explanation of (A)

Assertion (A) : Solow model of growth

predicts steady state
growth.

Reason (R) : Saving — investment
equality is assumed in
the model.

Codes :

(A) Both (A) and (R) are true
(B) (A) is false but (R) is true
(C) (A) is true but (R) is false

(D) Both (A) and (R) are false
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24,

25.

Assertion (A) : According to
Ursula K. Hicks, direct
taxes are superior to

indirect taxes.

Reason (R) : The allocative effects of

direct taxes are superior
compared to that of
indirect taxes.

Codes :

(A) Both (A) and (R) are true but (R) is not
the correct explanation of (A)

(B) Both (A) and (R) are true and (R) is
the correct explanation of (A)

(C) (A)is false and (R) is true

(D) Both (A) and (R) are false

Assertion (A) : Factor price equalisation

theorem deals with the
effects of trade on factor

prices.
Reason (R) : Trade in goods has no
effect on factor prices.
Codes :

(A) Both (A) and (R) are true and (R) is
the correct explanation for (A)

(B) Both (A) and (R) are true but (R) is not
the correct explanation for (A)

(C) (A)istrue but (R) is false

(D) (A) is false but (R) is true

24,

25.
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26.

Due to liberalisation
tele-density in India
increased from 18.2
percent to 76.8 percent
between March 2007
and December 2011.

Assertion (A) :

Reason (R) : Tele-density varies
across circles and there
is significant urban rural
divide.

Codes :

(A) Both (A) and (R) are true and (R) is
the correct explanation for (A)

(B) Both (A) and (R) are true but (R) is not
the correct explanation for (A)

(C) (A) is true but (R) is false
(D) (A) is false but (R) is true

26.

L EROBOEHRNE SOVESE
IO 505 O Jross
2007 &° 18.2 zesho00cme
8 G202062011 538
76.8 ToH50055 ORSE

53> (A)

ooy (R) 1 226 ST 8¢5 £0osnd”
DT EPRO0CEIN T
@T"ibe’a—é%gs’a PoBO 50655
Sree 89 Joss S
255@53"@953&39

&,

(A) (A), (R) oo o> 5352 (R), (A) £ 889

Q55 FHNW0D

(B) (A), (R)endocsr 505550 (R), (A) %3589
D8 S0

(C) (A)Sos0 =0 (R) 8%y

(D) (A)@y» = (R) 058
27. Assertion (A) : The mean of the

binomial distribution is | o7 escpesss (A) | e Deresiie G,
P- @08 50¢5g500 NP

Reason (R) : The .thecl)retlcal e (R) . oS daresins
distribution (@) " o

i p(x)="C,-q""-p
p(x)="C,-q""*-p* is
3098 Boroae

called the binomial Zj ad
distribution. e

Codes : $&:

(A) Both (A) and (R) are true (A) (A), (R)Bocir ey

(B) (A)is true but (R) is false (B) (A)esy (R) &5y

(C) (A) is false but (R) is true (C) (A)&3y (R) ey

(D) Both (A) and (R) are false (D) (A), (R)To> &y
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Note : Sequencing Types (28-35) 28. O T e EFPel Shsos Potindtsnshss

(28-35)
28. Arrange the following in the order of their
development. | g BT et
$ “«
l. Revealed Preference Theory Il e 5888 Jgien
Il. Indifference Curve Analysis lll. eros HGress J35e
lll. Marginal Utility Analysis IV. e5¢58 (0307esd Dost0
&)
IV. Modern Utility Theory gs% :
Codes : (A) 11, 111, 1508055 IV
(A) 1L Tand IV
(B) I, 11, 155805 IV
(B) N1, land IV
(©) 1, 1, 50800 IV
(C) L, lland IV
(D) 1,11, 1V 508050 |
(D) N1, 1Vandl

I | 29, sroRgeskoNto oD TR Ekod” Kot
29. Arrange the following in the order of their

duration . ey sPeda
I. Short period Il. BTG50 SO0
Il. Medium period . 557G 5 o
ll. Market period V. éggoe)m
IV. Long period ?&Q:
Codes :

(A) LI, v
(A) LI, v

(B) 1, 11,1V, 1
(B) 1, 11,1V, 1
(©) 11,11, IV ©C) LIV
(D) IV, 11, 1, 11 (D) IV, 1L, L




30. Arrange the following in chronological | 30. 5: &/53 goqsogoe)m @ PATBoHNAE D
order SOE00E @aHod
I. Absolute Income Hypothesis
, _ . DS e300 DBEN
Il. Life Cycle Hypothesis
lll. Permanent Income Hypothesis Il &5 5 3050y
IV. Relative Income Hypothesis 1. 555 estro 5050
Codes : IV. %5 esmrai 5050y
A) LIV LI .
(B) IRIAA #&:
(B) 11,11 1V, (A) 1,1V, 1L, 11 B) 11,111, 1V, |
I 1, 1, v
(© L1 (C) 11,1, 1V (D) IV, 1,11, Il
(D) IV, 1,11, Il
o 31. 55 QIOH T 92 G KRS DB K00
31. Arrange the following in correct order
l. Human Development Index | SrETRRG SrdE
Il. Gender Development Index Il ©or 0 Sod%
lIl. Physical Quality of Life Index . T°ds 5% s D
IV. Gender Empowerment Measures IV. o reser 5o
Codes :
g&&{o 1
NRVARIA
A) IV, LT B) 11,1V, 1
(B) 1,11, 1V, 1 (A) IV, 111, B LIV,
I 1 1 1V D) L LIL IV
(C) 11,11, 1,1V (©) 111, (D) 11,1,
(D) 1L 11, v 32. B D705 TV SOERTHHET D K
32. Arrange the following in chronological |, X50°8)eaCee Deosd 0 550y
order
- Il. o oo espd® Doy
I. Modified Value Added Tax
Il. Central Value Added Tax lll. ogdes ©oros Hoy
lll. State Value Added Tax IV. 3150 533 Qoo &m0 559
IV. Manufacture Value Added Tax &,
Codes : (A) 1,1 111, IV B) IV, 1, 11, I
(A) 1, 11,101, 1V B) IV, 1, 11, 1l
(C) 1L L1V, (D) NIV, LI
(C) 1LV, (D) NIV, L
e 14 A-05-02




33. Arcrlange the following in chronological | 33, B35 S DO T TOESTEIHEION 557, Koo
order
. Formation of WTO | @3S0% el oig done
Il. Uruguay Round Il. &oRs 807850
lll. Formation of GATT . ree5Domyeas
IV. Formation of UNCTAD [
IV. @o3°& (UNCTAD) Domyean
Codes : ©
(A) 1, 11, IV, 11l £
B) I, 1, I, IV (A) I, 1, v, (B) 1, 1, 1, 1v
(C) 1,1V, 11, | (C) LIV, L1 (D) v, 1,1, n
(D) IV, ik 1, T 34. 0°% DTE BFAZOR 70T SEONT 550 e
34. Arrange the following in descending order $5008" Potnthiistn
of their weightage in Wholesale Price _ _
Index | 00e8 / 53700500 /D%
l. Egg/meat/ fish . Sreo
Il. Milk . e risgsoo
lll. Food grains
V. Sodoes
IV. Sugar
Codes : §&:
(A) IV, 1,11, 1 (A) IV, 1L (B) 1,1V, 1L
(B) 1,1V, I, 1I (C) 1,11V, | (D) 1LV
C) ILNLIV, I
© 35. Newol DHEIE D ST 2063 §0 ETHHeR
(D) LIV SS9
35. Arrange the following concepts in which . BB
they are used in statistical analysis
l. Sampling Il Szros ©Hdah
Il. Data processing Il 5080y 565
lll. Test of hypothesis
IV. Drawing inferences V. rgong dgairess oaene
Codes : &,
(A) 11111V (B) L1, 11V (A) 1,101,111V B) 1, 1,1,V
(C) I, L1V (D) IV, 1L, (C) 1,1, 11,1V (D) IV, I, 1,11
e 15 A-05-02




Note : Match List-lI with List-Il and select the

correct answer from the codes given

SO

B0 DTRd VG oTeD RS5O,
200653 DTS 0Tk D& TS )

below. TS e3EBSBoB
36. Listl Listll 36. o | el
a. Cardinal utility 1. Robinson
a. SO R Ao 1. Tlkyo
Theory “ “
b. Ordinal Utility 2. Edward b. Q8¢S pairess 2. G0 eronds
@q;oé;ﬁao
Theo Chamberlin
i C. Dsrgog PeS oy ed 3. Besb.
c. Monopolistic 3. J. R. Hicks
d. esoyrg Fedsotel 4. S oASSS
Competition
, 5. 30058
d. Imperfect 4. Joan Robinson =
Competition a b ¢ d
5. Marshall (A3 4 5 2
a b c d
B)5 3 4 2
A3 4 5 2
2 4
B5 3 4 2 ©s 3
G5 3 2 4 b1 3 2 5
M1 3 2 5
37. 200 T3S 2306) 0TS 0K
37. Which of the following pairs is correctly BB T MHOOWK0
matched ?
. (A) 555 D0 — oBS
(A) Perishable goods — Sugar
(B) Public goods — Refrigerator (B) & Sarnsiydes — 030wt
(C) Private goods — Street lights (C) den 300 — 26 &Jren
(D) Free good — Air (D) 25 Saase .
Me 16 A-05-02




38. Listl List Il 38.  (E0d T°A e2BRSEORWD
a. Law of Markets 1. Fisher e | oy y—
b. Quantity Theory 2. R. F. Khan
y y a. JropeiarEsn 1. b
of Money

b. (5:550°8 drrodsn - 2. 35.09. I°S
c. Employment 3. J. M. Keynes

C. eSier ooty 3. 2.ab. 45

Multiplier

d. Investment 4. J.B. Say d. Depad Mt 4 80D
Multiplier 5, :

Codes : a b ¢ d

39. Which one of the following pairs is | 39- B3 355G 2o @oF ol DFH0N

correctly matched ? BRTVCED T QOB
Concepts Economists DRSS SYT Do
(A) Effective Demand — A. W. Philips (A) g% Aok — .G 5 O
(B) Risk and — Milton Friedman (B) Siosos @S%Qééé’g@— 208 5555
Uncertainty
OF Vg AFBD  —
(C) Laissez-faire — Keynes (C) g8 o5 I é(s“)
(D) Demand Shift ~ — Charles Schultz (D) &irob exserancy) — TR G
Inflation ST 5o




40. Listl Listll 40. e | el |
a. Shadow prices 1. Gunnar Myrdal
WP ! y a. Tl oo 1. 0030 56
b. Rolling plan 2. De-Gule
c. X-efficiency 3. Leibenstein b. 508G Eerds 2. darind
d. Indicative 4. J. Tinbergen C. X-rRoggooo 3. @55@5
planning
Codes - d. Jd Rerdy 4. B. 3965
a b ¢ d S
A1 4 2 3 a b ¢ d
B4 1 3 2 A1 4 2 3
C)3 2 1 4 B4 1 3 2
M2 3 4 1 €3 2 1 4
(D)2 3 4 1
41. Listl List Il
Name of the Name of the 41. e | =D ||
Committee Chairman s R
52063 080 26,5 oo
a. The Taxation 1. L. K. Jha
Enquiry a. DRy Joserdogno 1. JS3. e
Commission 1953-54
1953-54 — 5 2 E ot
. D8 DA IS . 3.dw.
b. Indirect Taxation 2. K. N. Raj S0 % OO STEET o
Enquiry Committee 1977 003 1977
c. Committee on 3. John Mathaiah C. DgHTON H0eS 00Ak0 3. &S $TEHOs
Taxation of
Agricultural Wealth SO S2003
and Income d. B8 S550e ITer 4. esb.8. Dol
d. Eirec_t Tages . 4. R. J. Chelliah £33
nquiry Committee 5. 2.05. o5
5. K. N. Wanchoo
Codes : S
a b c d a b c d
A2 3 1 4 A2 3 1 4
B)3 1 2 5
(B) B) 3 1 2 5
C) 4 3 2 1
D)5 4 3 5 C) 4 3 2 1
(D)5 4 3 2

e 18 A-05-02




42. Listl

a. Free trade area

b. Customs union

c. Common market

d. Economic union

Codes :

a b
A)2 1
B)3 2
C) 2 3
D)1 3

Listll

. Norestrictionon

trade and factor

movement

. Trade is free

and no customs

duties

. No customs

duties, common
duty on

non-members

. Advanced

stage of

integration

42,

e |

a. ‘o relss o 1.

b. 5353 0 IanS

C. &DAIDRS

d. ©0s A0S

SE,

a b ¢
A2 1 3
B3 2 4
€2 3 1
D1 3 4

e ||

Tedesgoo0 8)E
SPUSPO a0 2

30500 SK0CEE

. 5Ty Tredesgdoo

éo& §85%

003700 &0

- 5%

L0000, B
a5 P Hdsw

C§J°?Se§®o 00550

. D&xser BRanE®

@@526&60



43. The following table gives the Central | 43. 5+ Q0% 2638 Jromns ¥ 2 gr8S (e
[S8) o oS

Government Expenditure on Social 2011-12 ond® Damerdsd 5501050 5do0.
Services during 2011-12. DG HgEITPOR0 FHHO[0M® esBEOTHD
List| Listll e | e
(Iltems) (% of total (o70) (Roogo ool
social B505008° T
services FRHR)

expenditure) a. 965 wtes, axotes 1. 4.63

a. Education, Sports, 1. 4.63 0%

Youth Affairs b. es&gio0 Ho00 2. 2.15
b. Health and Family 2. 2.15 6208 HOFHO[

Welfare C. D3 050r $58a% 3. 2.10

c. Water Supply and 3. 2.10

Housing d. OB Boad 4. 0.20
d. Information and 4. 0.20 T

Broadcasting &,
Codes : a b c q




44,

45.

List| ListIl
a. Averaging time 1. Mode
and rate
b. Averaging rate 2. Median
of growth
c. Middle item 3. Geometric
Mean
d. Most repeated 4. Harmonic Mean
item
5. Arithmetic
Mean
Codes
a b c d
A2 1 4 3
B)5 2 3 4
C)4 3 2 1
(D)3 4 5 2

Assertion (A) : The variance of a
distribution is always
positive.

Reason (R) : The variance is the
average of the squared
deviations from the
mean.

Codes :

(A) (A) and (R) are true but (R) is not the
correct explanation for (A)

(B) (A) and (R) are true but (R) is the
correct explanation for (A)

(C) (A)istrue but (R) is false
(D) (A) is false but (R) is true

44,

45.

46.

e I

2T TOTED0
bacﬁgﬁézﬁso
Jattar zsoc;jgo“)o;ﬁao
8 :socﬁémm

= |
TR0, BV DNED 1.
2N Bee Hie 2.
530635 @0E30 3.
DD HHTHBS 4.
90BN

e o oo

5. @o¥ ;soc;sgmm

A W N =
oD W A~ O
- N w o

BOFES (A) 1 Dgresddoo Ao,
DVISENI0 DI

(AINEIEREN

PO En (02N OV) @O§E§JC5§X)JB§JJ
200G SO Ao ST
PSTa(he)

559 (R)

g&&o:

(A) (A), (R) o 2y, =22 (A) £ (R) 2600
Nletar)

(B) (A), (R) ez (A) S (R) 150005 558
(C)
(D)

(A) 2, 522 (R) &5y

(A) 83y, 29 (R) 2y

BIOD TRfd” Ao A Sl S 5
&0

(A) esoBRDs

46. Which State has the largest coastal area
in India ? (B) &dosioeo
(A) Andhra Pradesh (B) Tamil Nadu (C) S
(C) Kerala (D) Maharashtra (D) So5foy,
e A-05-02




Read the essay given below and answer
questions from 47 to 50 based on your
understanding of the passage :

Parallel to pauperization in the rural sector, air
and water pollution from urban economic
activities is a cause of environmental
degradation in developing economies. The
problems of pollution due to such factors as
emission of noxious gas and water from
factories, and piles of waste from urban
households are universal, but often more
serious in developing countries. It is important
to recognize that environmental pollution from
these sources tends to progress faster in
developing than in developed economies.

Advanced economies have reached a stage
at which the weight of economic activities shifts
from the industrial to the service sectors in
response to economic growth, so that
consumption of energy as the basic source of
pollution grows slower than growth in national
income. Moreover, people in the high-income
economies have high preference for
environmental amenity relative to present
consumption. Therefore, they are more prone
to accept environmental regulations and
taxation at the expense of their present income.

In contrast, in the early phase of
industrialization, the share of industry in
domestic income expands, resulting in
increases in energy consumption faster than
growth in national product. This tendency is
often exacerbated by the policy bias to promote
heavy and chemical industries from the early
stage of development. Since anti-pollution
regulations are usually weak in developing
economies, increased energy consumption in
the industrial sector tends to swell emission of
noxious gas and water. Moreover, as many
developing economies entered the era of
motorization before railway networks were
established, the density of automobiles has
been high relative to their income levels,
resulting in extreme city transportation

congestion and serious air pollution.

o QIS Disseodks aTgisocin WA Bk 47 Sood
50 5555 Ho (5505 T88008° obyBRoonTist 7w
STOREY D05 BRTEEOH00S G0,

0S8 JoFososy 3 T [doey JoNo
DR0EGOTOEIE) HOK OB oaeawejeﬁs R &)
TPOX0 508X ded SROVSINY bwé&m eao%"@b&
DOer H0RBE” 23050625 SEEIHIMBIND.
SRR 0K EEHROTT HOEVR0G DRSO Dabeds
DVPOB TOTNFO $505 AS F0S, SKTeS
62000500 7Y 5006 TTH P05 2958 S0 A
ShR0R) SPEETRIN ey RSN 5330326&@&3& STANS
Dot B8 & 0T D)0 Sesad) SR
Slogslelay 00BOOBE> oYL VDB)D0. B2
28 DED TS SERITEI0 WOTO HETH0
D3R DoBS BT e’ KT el Dot BTed”
DT (77 WIPYHBITHOIR) 287,5:5%)%0.
©DIE Doy BFed” FOF-8sser (58D 70
So23C 99 W00 ) CYTRRY ST E 06 Dk QS
ROG5S TS0 Hod SR a0y Bew @SarTrad
;53&3 &0 £y e‘%ﬁ)b;ﬁ W AJIFPEY SPAEIBIID.
- STARNAERCTa O508° (ezen (5:30% AADTRO
EI7) STGITEr 0T JE)I @“wzéééi)@ov&ow. es
SPEEI0TT ) DT°gICED DOTFEE 2502008000 VoL,
Q0ETOE) L8008 70 T30 esraoS’ Qébzs
gTTTR) BN DYOBIE BORHD SEHERGTND.
RS BOBY oIS HIomr wdB)] T sFeS
SoEdsten S5 D55 0Ty HIBTAODE
08 ePSOTTIAD HFOLRETY Trevky A0 A8
0008 KBoOBDBIN. &Y ja@@o::bg 5508 o6
080K SO BOFH0 AE DT DS B
G000, T wHHY DotoBody BT e e
Dabo®es Hipo T e S TP IOSTHBOT
000 MOS0, R Doty BTed”
QSQ)E) DOEOBIZY HDOFS0O HS00C SEORMIRIS) Reh
TADOHED, SOOI )3 SRR SO0,
©0D ¥ T @0 Dot GTed” b
QUTOBEED, AE)H TET® DIATND0, DI §5°0
RTPETED TR0, JBE TGS 085 DG SveT
RFER0 SRISIOS IO 5F BEPRH TCL0 SP00gI3
m@@m@;&o\w
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47.

48.

49.

50.

Which of the following is not a factor of

urban pollution ?
(A) Noxious gases (B) Waste water

(C) Deforestation (D) Solid waste

Which one of the following is not a reason
for reduction of pollution in developed
countries ?

(A) Shifting to small and medium
industries

(B) Shifting to service sector

(C) Strict environmental regulations and
taxation

(D) High preference for environmental
quality

Developing countries are suffering from

high level of pollution due to

(A) Lack of strict implementation of
environmental regulations

(B) Increased energy consumption by
industries

(C) More automobiles

(D) All the above

People in developed economies prefer
(A) More Present Consumption
(B) More Present Income

(C) Better Environmental Quality

(D) Less Taxation

47.

48.

49.

50.

BIOHTIE’ D6 Deer SPeaky SONOWD SEE50
(A) IB08 ToboDed

(B) $yo° soe0ts A

(C) oo AET©eS

(D) 08 3558 Sorgren

©DHB oS DT SPerY BAOWID
53500 528 ($08 T3S D8 2

(A) D5y 08K K063 BT DOEBH200E
QP

(B) oo SoredS 552806

©) EBIQD ZJO’°§26C5€’3 NlovSle]laTrISbINbIalebob)
ZJ?@J&@J

(D) $omg5cses TeagBsd Y g
NG VOB BT0 &R Tow TOLE)
EORCT0CEEE eI

(A) $T°5883 DODOEE TV PLNBBN
93000 DADSEEYE

(B) 201500 D509 50D DI

(C) Drerdh T55mros 08

(D) 2 2878, 5

IR DoBD B8 Haew HIOITIS BIS
05 R

A) %), 5ERT DTS

B) 250, (09338 esraid

(A)
(B)
(C) ©QE SorgHEeassns T
(D)

D) 5,5 $oeo

e
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Space for Rough Work



